\ '/ 4 & 7 A ¥

FOR REAL RIDERS

Part Description QTY Nm

Trunnion Mount Shock Bolt Kit

Kit to replace the top trunnion shock mount bolts and spacers on all
E-Sommet frames (2021 >). Includes bolts and spacers for both sides.
No bearings included.

VTEA-FHWS 2
VTEA-LKBT-M10X17-R1 2 14Nm

V-Link Seat Tube Pivot Bolt Kit

Kit to replace the bolts, spacers and threaded element of the seat tube
pivot on the suspension linkage on all E-Sommet frames (2021 >). No
bearings included.

NTR-LAX R3 2 T4Nm
NTR-FWS R2 2
TB-M8-30L 1

V-Link SS/Horstlink Bolt Kit

Kit to replace the bolts, washers and spacers of the seat stay linkage
(rear pivots of suspension linkage) or horstlink pivots (back of
chainstays) on all E-Sommet frames (2021 >). These pivots share the
same hardware. Each kit includes hardware for 1 set of pivots (no
bearings included). 2 kits required to replace all V-Link Seat Stay and
Horstlink pivots.

ASEE-LWS 8
VTEA-SAX-26L 4
VTEA-SNT 4 T0Nm
VTEA-LWS-19X15X5 4

Main Pivot Bolt Kit
Kit to replace the axle and spacers of the main pivot on all
E-Sommet frames (2021 >). No bearings included.

VTEA-LBT-83.5 1 19Nm
AFDC-CWS 1
N9A-MPS 2

Frame Bearing Kit
Kit to replace the frame bearings on all E-Sommet frames (2021 >).
No hardware included.

6901-2RS 4
6802V-2RS 8
6902-2RS 2

RECOMMENDED TORQUE VALUE

Shock Bolts Upper 14Nm
Shock Bolts Lower 25Nm
V-Link Pivot 14Nm
V-Link Seat Stays 14Nm
Horst Link 14Nm
Main Pivot T9Nm
Hanger 25Nm
Cable Guides 3Nm
VTEA-FHWS
> 6901-2RS
\}\ VTEA-LKBT-M10X17-R1 TB-M8-30L
! NTR-FWS R2

6901-2RS
NTR-LAX R3

VTEA-FHWS

6901-2RS

VTEA-LKBT-M10X17-R1

NTR-FWS Rz\

N
R —

VTEA-SNT
ASEE-LWS

6802V-2RS

VTEA-LWS-19X15X5

6802V-2RS
6901-2RS
ASEE-LWS
NTR-LAX R3
VTEA-SAX-26L

8 \ %
N B\ K
\ \
'- . —"5“";‘\‘\ \\

\ /_/__/ N s\ AN
- )

72

VTEA-SNT /V

ASEE-LWS
6802V-2RS
VTEA-LWS-19X15X5
6802V-2RS
ASEE-LWS
VTEA-SAX-26L

B} W{\ VTEA-SAX-26L
ASEE-LWS

6802V-2RS
VTEA-LWS-19X15X5
6802V-2RS

ASEE-LWS
VTEA-LBT-83.5

VTEA-SNT
AFDC-CWS

‘\\\‘ ' \‘\\‘ N\
P\ {
N9A-MPS - %\ ASEE-LWS
6902-2RS - 6802V-2RS

6902-2RS VTEA-LWS-19X15X5
N9A-MPS 6802V-2RS
ASEE-LWS

VTEA-SAX-26L

E-SOMMET
E-ESCARPE



\ '/ 4 & 7 A ¥

Part Description

FOR REAL RIDERS

QTY Nm

Internal Battery Door Kit

Kit to replace the battery door on the down tube of all
E-Sommet frames (2021 >). Includes battery door, bolts & top
hat washer. Rubber protector sold separately.

VT9B-BTC-A 1
M6éx12L-R51B 3 7Nm
VT9B-BTC-WS 1

Internal Battery Holder Kit

Kit to replace the parts required to secure the internal battery
inside the down tube on all E-Sommet frames (2021 >). Bolts
to secure the holder to the frame sold as a separate kit.

VT9A-BTH-A 1
VT9A-BTH-B 1
VT9A-CGB-A 1
VT9A-CGB-B 1
M4x8L-M11B 1 3Nm

Internal Battery Bolt Kit
Kit to replace the bolts that hold the Internal Battery
Holder Kit to the frame on all E-Sommet frames (2021 >).

Méx12L-M11B 4

VT9A-BTH-A M6x12L-M11B

VT9A-CGB-A
Meéx12L-M11B

M4x8L-M11B

M4x8L-M11B

VT9B-BTC-WS

M6x12L-R51B

VT9B-BTC

Méx12L-M11B

Méx12L-M11B

M6x12L-R51B VT9A-BTH-B

M6éx12L-R51B VT9A-CGB-B

M4x8L-M11B

RECOMMENDED TORQUE VALUE

Door

Battery Mount Bolts

Cable Guide Bolts

7Nm
7Nm

3Nm

E-SOMMET
E-ESCARPE



